Answer Section
MULTIPLE CHOICE
1.   B   2.  B   3. A   4. C   5. C   6. D   7. D   8. C   9.  C   10. C   11. A    12. D    13. B
SHORT ANSWER

14.
ANS:
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The ball will descend 0.6 m.


15.
ANS:


Cedar Street: 
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Gordon Street: 
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The hill on Gordon Street is steeper.


16.
ANS:
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17.
ANS:


Choose two points on the graph, such as (0, 105) and (1, 90).
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The slope of the graph is –15.


18.
ANS:
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The clues are 592.8 m apart.


19.
ANS:
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Longer Problems

20.
ANS:


a.
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The slope of John’s roof is about 0.56.

b. 
Divide the run of the roof by 8 ft.


16 ft ÷ 8 ft = 2


Divide the rise of the roof by 2.


9 ft ÷ 2 = 4.5 ft


The roof rises 4.5 ft for every 8 ft of horizontal distance.


21.
ANS:


a.
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The slope of the ramp is 0.31.

b. 
The ramp on this truck is too steep. The slope of the ramp is greater than the desired slope, and the larger the slope, the steeper the incline.

c.
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The ramp would need to have a horizontal length of 12.5 ft.


22.
ANS:


a. 
The first route has a slope of 3:1, which means it has a rise of 3 and a run of 1.
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The first route has a slope of 3.

Second route:
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The second route has a slope of 2.5.

b.
The first choice is steepest. It has the greater slope, and the larger the slope, the steeper the incline.


23.
ANS:


a. 
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The slope of the staircase is about 0.92.

b. 
Divide the total rise by the number of steps.
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The rise of each step is 152 mm.

Divide the total run by the number of steps.
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The run of each step is 165 mm.

c. 
The slope of one step is the same as the slope of the entire staircase. 
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The slope of each step is about 0.92.


24.
ANS:
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The ramp will have to be 20.2 ft long.


25.
ANS:


a. 
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The slope of the hill is 0.4.

b.
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The run of the course is about 750 m.
c.
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The length of the hillside is 807.8 m.
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